Bridging Unit: Polynomials and the
binomial theorem

Topic A: Expanding brackets ¥ X Bridging

to Ch2.1

You know how to find the product of two binomials by multiplying every combination
of terms together and simplifying. Take extra care when squaring a binomial, and (ax+ b\)-(/cx +d)
remember that (x+a)’ =(x+a)(x+a)= x*+2ax+a®> NOT x*+a’

( )
+ | Expand and simplify (3x—5)*
% (5x—5)2 =(3x—5)(3x—5) e Always write in this form
£ until you are confident.

ks = 9x% —15x—15x+25

— =9x%—30x+25 ® Simplify the x-terms.
g /

Expand and simplify a (x-7) b (5x+1)° Try It 0

. J

To find the product of three binomials, first expand any pair, then multiply by the third.
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‘. )

N d and simpli +3)(x-2)(x+1

K Expand and simp 1fy (x+3)(x=2)(x+1) Expand the first two pairs.

3 I

% (x+3)(x—2)=x"—2x+3x—6 e

] Simplify —2x +3x to x

w =x"+x-6 *®

(X +x=08)(x+N=x"+x"+x"+x—06x—6 * 3 terms x 2 terms = 6 terms
— P 422 —Bx—G e Add the x*-terms and simplify x— 6xto —5x
\. y,

Expand and simplify a (x-3)(x-1)(x+1) b (x+2)*(x—4) Try It e
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h Bridging

to Ch2.1

Bridging Exercise Topic A

1 Expand and simplify each of these expressions.

a (x-4)
b (x+6)
¢ (x-9)
d (x+5)
e (2x+1)
f (3x-2)
g (4x+3)°
h  (5x+2)
i (3-x)°
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i (7-2x)

k (8-3x)

I (10-9x)°

2 Expand and simplify each of these expressions.

a (x+5)(x+2)(x+4)

b (x+2)(x+7)(x-1)

¢ (x-3)(x+8)(2-x)
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d (x+6)(2x-5)(x—8)

e (Bx+1)(2x-1)(x+5)

f  (2x-3)(3x—-4)(5-4x)

g (x+5)°(x+9)

h (3—-x)*(x-8)
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i (x+7)(x-9)°

j  (2x+3)*(4-x)

k (3x+7)*(x-8)

I (2x-11)*(3-2x)
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